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—4xr—T7 > 5
—4x > 5+7
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5¢+2 < 8 —10
5c—8x < —10—2
—3x < —12
—3z - —12
-3 — =3
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Ar+12 > 4
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4r = —8
r = —2
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r+8 > 11
x > 11—8
xr > 3
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8r+3 > 3xr+28
8c—3x > 28—3
oxr > 295
x > 5
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3x+5 > Tx+1
3r—T7x > 1—5
—4xr > —4
r <1
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20—10 > —2
2¢ > —2+10
2 > 8
x > 4

ghb60166 = FL E#=EREl



2¢—21 = 9z
2¢ —9x = 21
—Tx = 21

r < —3
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r+5 < —2
r < —2—5
r < —7
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3r—3 < 2x+1
3r—2x < 143
r < 4
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T—x < 2x+5
—x—2x < 5—T7
—3xr < —2

r > —

ghb60166 = FL E#=EREl



20—1 < 7Tx—36
20 —Txr < —36+1
—d5xr < —35
x > T
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—6 < x—2
—r < —216
—x X 4

r = —4
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6x+8 < 2z
6x—2x < —8
4r < —8

r < —2
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5c0—1 > 3 (x+3)
S5c—1 > 3x+9
or—3xr > 9+1
2z > 10
xr > 5
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Adr—8 = 6x+4
Ar—6x = 4-+8
—2xr = 12

r < —6

ghb60166 = FL E#=EREl



7T < 3x+4
—3r < 4-—-7
—3r < —3

x > 1
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4r—11 < —15
4r < —15+11
4r < —4
r < —1
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20+8 < 4x+7
20—4x < 7T—8
—2r < —1
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13x+1 < 9—5
13x—9x < —5—1

4r < —06
:c<—%
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6x+1 =5
6r = 5—1
6 = 4
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Sr—6x > —3+8
—T > 5
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15—« £ 3425
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5t—6 > 14
S5 > 1446
oxr > 20

x > 4
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9r = 6x—6
9r—6x = —6

3r = —6

r = —2
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12—x < 42+7
—r—4xr £ 7—12
—5x < —5
r =1
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6x+30 = 0
6x = —30
r = —5
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br+42 > 97
S5t > 97—42
ST > 95
x > 11
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6r—2 > 4x+6
6x—4x > 6+2
2x > 8
x > 4
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9(x—4) = 8=
9r—36 = 8z
9r —8x = 36

r = 36
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3r+2 < —4 (x+3)
3r+2 < —4x—12
3r+4r < —12-—-2
Tt < —14
r < —2
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3r+5 < 2(5—x)
3z+5 <X 10—2x
3z+2x < 10—5
5 < 5
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5r—1 < 8¢ —7
5c—8x < —7+1
—3x £ —6
r = 2
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xr < 5(x—8)
xr < dx—40
r—dxr < —40
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0.1z—3 = 0.8¢+0.5
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r—30 = 8x+5
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0.3z+1.7 > 2.1—0.1x
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3r+17 > 21—=x
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4 > 4
x > 1
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22+12 < 3—x
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3z < —9
r < —3

ghb60166 = FL E#=EREl



ghb60166 = FL E#=EREl



—4 < —5x+8
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3(x+3) =2 x—1
3c+9 = z—1
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2¢ = —10
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3r—9 > 2x—5
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3r—4 < 2x—8-+5x
3r—4 < 7Tr—8
3e—Tr < —8+4
—4xr < —14
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12><(5_42w—%) < 23512
3(6—2x)—6 < 4(2x—3)
15—6x—6 < 8xr—12
9—6x < 8xr—12
—6x—8xr < —12—-9
—14x < —21
r > %
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6 X 3 > 5 X 6
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8+7(2x+1) < 8c—3
8+14x+7 < 8xr—3
15+14x < 8r—3
14 —8x < —3—15
6 < —18
r < —3
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8r+16 = 5x+40
8r—5xr = 40—16
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x—9 < 2(x—1)
r—9 < 2x—2
r—2x < —249
—x X7
r = —7
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gw—Z < x
3X(%w—2) < xx3
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—2x < 6
x > —3

ghb60166 = FL E#=EREl



)
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0.3z+5 < 0.7x+3.4
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0.1 (x+1) > x=+0.2
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—9x > 1
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T(x—4) < 2(x+6)—3x
Tr—28 < 2x+12—3x
Tr—28 < —x+12
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8r < 40
r < 5

ghb60166 = FL E#=EREl



(76)
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3x—5 > 4 (2x—5)
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—54+4(2x—1) > 3(4x+7)—6
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3r+(x—2) < 2
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dr < 242
4 < 4
r <1
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0.3(z+1) < 1—0.5x
10x0.3 (x+1) < (1—0.5x) x 10
3(x+1) £ 10—5x

3z+3 < 10—5x
3r+5x < 10—3
8r < 7
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—3(6—x) < 10+5x

—184+-3x £ 1045z
3z—5x < 10+18
—2x < 28

r = —14
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%ZB+19—4 < :c—l(—;lo
18x(%w—l—%) < w_ElelS
6228 < 3 (x-+10)
6x+28 < 3x+30
6x—3z < 30—28
3r < 2
r < 2
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0.23x+0.35 < 0.3x
100x%(0.232+0.35) < 0.32x100
23x+35 < 30x
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—7x < —35
r =5

ghb60166 = FL E#=EREl



)
2(7—2x) < —7(x—6)+2

14—4x < —Tx+42+2
14—4x < —Tx+44
—4dr+Tr < 44—14
3z < 30
x < 10

ghb60166 = FL E#=EREl



90

0.4x+1.8 < 0.84-0.7x
10%(0.42+1.8) < (0.84-0.72)x 10
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—3z < —10
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r = =
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2 5 -~ 3
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212—20x > —20+3
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—xr < —8
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